11 4 1 25 26 27
a 4,0 3, 88 4,3
25 26 27 53 52 58
A 13,4 13,144 13,6
B 70 70 70 3,9 3, 46 4,0
c 34 31 27 b 2,2 2, o2 2,1
cA 02 02 02
cB 486 443 3 84
km 1 1 1 1,2 1, 2|2 1,0
3/ 19 19 19 a-b= 1,8 1, 86 1, 8
3/ 19 19 19 d 1,9 1, 38 1,8
31
3/ 1 1 1 1,9 1, 38 1,8
31 e 2,9 3, 04 3, 8
3/ 12 9 9
4 3 3 2,9 3, 04 3, 8
4 3 3 d- g4 1,8 1,47 6 1.9
20Mm3 3,0 3, a7 3, q 7 ce 3 4 1
100m3 8 h
HOY .1 HO .14 . HY .1 9 3
10
11 i 3 4 2
12 j 3 4
13 i 2
100|. 100|. 100[. |14 4,8 4, 174 5,3
6 32 474 474 2,6 2, 02 2,8
5 79 5 79 5 79 15 b+b 4 5,8 5, 2[6 5,8
16 56,0 53,379 50,5
3
118 158 152.
598 838 1,08
18 358 518 528
5 35 5 05 3 87
93 95 75
2 50 2 48 19
188 1768|. 168.
7 87, 7 57, 771
499 477 3 00)
8172 798| 823
23a|. 21 4. 209|.




7 4 1 25 26 27
a 5, 8[3 4, 1 4, 1
25 26 27 13 13 1 3|
A 6 3 58 5§
B 20 20 40 5, 38 4, g 4, 4
c 16 14 11] b 3, 22 2,6 2,8
CA 25 23 19
cB 400 3 50 275
km 1 1 1 1, 0|8 1, 2 1, q
31/ 10 10 10 a-b= 2, 9lo 2,6 2,2
31/ 10 10 10 d 8 6 8 8 8 3
3/
3/ 8 8 8 8 6 8 8 8 3
3/ e 2, 82 2,9 3,0
3/ 7 7 7
1 1 1 2, 82 2,9 3,9
1 1 1 d- g3 2,910 2.6 2,7
20Mm3 1,0 1,0 1,9 7 cg
100/m3 8, 9 8, o 8, o 8 h
H111 H111 H11 1 9
10
11 i
12 j
13 i}
100|. 100|. 100. |14 5, 99 5,2 5,8
7 00 7 00 700 2, 0l6 2,9 2,9
8 00 8 00 8 00 15 b+h 4 6, 64 5,8 5,8
16 49,988 46,5 43,1
3
108 108|. 103
2,27 1,80 2, 08
16 819 804 862
3 66 4 25 4 09
5 70 575 5 91
165|. 183 183
8 67 8 54 8 51
72 98 8 g
2,78 2,79 3,08
80 2|. 75 6. 7812.




